Footloose

Kenny Loggins

Bass 4 mesures

Drum 4 mesures

J=164
) 44
gt
guitare
9of 44 A

nra

> g

it

= v
] K
’
L
A
-
A,
2
I
= M
] S wn gy
)
L
A
<™
\
= M
] KW
)
L
A
<1
E=
3
MmeUs

et

3 w4 D

Gdim E/G#

Fém

D¥#dim

et

90 # D

af » A

et

et

ssh u#t A

Partition par saindonclaude @gmail.com

et

2f » 4 A




gt

740 # 4 D

E/G#

Gdim

F#m

D¥dim

gt

80f) 4 # D

s 4 A

et

et

%f A

103 # 4

A

et

up 44

e

11’

et

119 # 4

Partition par saindonclaude @gmail.com



126f) 4 4

et

@

133 4 & A

et

[@®©

141f) &

et

e

1490) # #

N A

et

Partition par saindonclaude @gmail.com



